Order of Operations (A)

Perform the operations in the correct order.

.94+ (1.546.5)x6.7—4.5 6.9.7x ((1.2—0.3)+0.3) — 2.1
2. (54+0.6)x5.5—(3.6+6.7) 7.9.8—0.4445—(1.6+1.8)
3. (4.9+0.5)x(3.3-2.8)—2 8. ((444+1.1-04)=+1)x3

4. ((3.8—0.6) x2) = (2.2+4.4) 9.8.74+82459—(1.4+0.3)
5.47+7.44(3.94+6.9)+1.5 10. (((6.6+0.5)+0.2)+7.1)°
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Order of Operations (A) Answers

Perform the operations in the correct order.

944 (1.546.5)x6.7—4.5 6.9.7x ((1.2—0.3)+0.3) — 2.1
= 58.5 =27

(5.4+0.6) x5.5—(3.6+6.7) 7.9.8—0.4445—(1.6+1.8)
=39.2 =10.5
(49+0.5)%x(3.3—2.8)—2 8. ((444+1.1-0.4)=1)x3
=29 =15.3

(3.8—0.6) x2) = (2.2+4.4) 9.8.7+82+59—(1.4+0.3)
=12.8 =21.1
474744+ (394+69)=1.5 10. (((6.6+0.5)+0.2)+7.1)*
=19.3 =25
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